Comprehension of Unseen 'assage
Nature writing is non-fiction or fiction prose of
poctry about the natural environment, Nature
Writing encompasses a wide variety of works,
ranging from those that place primary emphasis
on natural historical facts (such as field guides)
to those in which philosophical interpretation
predominate. It includes natural history essays,
poetry, essays of solitude or escape, as well as
travel and adventure writing.

Nature writing often draws heavily on
scientific information and facts about the
natural world; at the same time, it is frequently
written in the first person and incorporates
personal observations of and philosophical
reflections upon nature.

Modemn nature writing traces its roots to the
works of natural history that were popular in
the second half of the 18" century and
throughout the 19*, An important early figure
was the “parson-naturalist” Gilbert - White
(1720 — 1793), a pioneering English naturalist
and omithologist. He is best known for his
Natural History and Antiquities of Selborne
(1789).

Read the passage and choose the most
appropriate option. (Q. No. 1 - 5)

1.  Nature writing emphasizes on
(1) Historical facts about the nature
(1i) Philosophical interpretations of the
nature
(111) Scientific information and facts
Choose the most appropriate option :
(A) Only (ii) and (iii)
(B) None of these
(C) Only (1) and (ii)
(D) All (1), (ii) and (iii)

2. Based on the passage what is period to
which the modemn nature writing can be
traced to ?

(A) 1750 till 1900 (B) 1850 till 1999
(C) 185010 1899 (D) 1750 1till 1899
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According 1o II";' passage, what
of works are written as part of Rature
writing 7 .

(i) Natural history essays and €ssays of
solitude or escape

(i) Poetry N

(iii) Travel and adventure writing

Choose the correct options ;

(A) All (i), (i) and (it})

(B) Only (1) -

(C) Only (i) and (11)

(D) Only (ii) and (111)

Which statement summarizes the apy,,

passage ?

(A) The passage talks about what papy,
writing is, the different types of
nature writing, its style, and aboy
the roots and pioneer of modem
nature writing.

(B) The passage talks about the life and
lessons of Gilbert White, a profound
naturalist and ornithologist.

(C) The passage talks about how the
nature writing is missing in the
modemn era and needs 1o be revived.

(D) The passage talks about from where
the writers draw inspiration for

nature writing, and how it
importance is diminishing in the
modemn era.

Which word aptly describes the word
“reflections™ as used in the passage ?
(A) None of these (B) Opinion

(C) Reproduction (D) Images

In the given sentence, find out which'paﬂ
of the sentence has an error. If there IS' no
mistake, then the answer is ‘No Ermor-.

Posture refers to how you position your
body when you're sitting, standing. of
lying down.

(A) No error

(B) Posture refers to

(C) how you position your body i
(D) when you're sitting, standing, of Y

down. 104B
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Live Antonym of - Quell

(B) Contract

(C) Incite (D) Recommend

Give meaning of Idiom : Cry Wolf
(A) To give false alarm '

(B) To referto

(C) To emphasise

(D) To have no result

In the given sentence, find out which part
of the sentence has an error. If there is no
mistake, then the answer is *‘No Error’.

Last month, the Taliban capture 69 district
from the Afghan government.

(A) No Error

(B) Last month, the Taliban

(C) capture 69 district

(D) from the Afghan government.

Give Synonym of : Baleful
(A) Trial (B) Uncovered
(C) Ruinous (D) Gentle

In the following letter series, some of the
letters are missing which are given in that
order as one of the alternatives below it.

13t ré e A B g9 g, 9

Fudfemma |
b abba_abbba_aab_bbaa_aa
Choose the correct alternative :

T Fareq @1 I8 I
(A) baaab (B) babba
(C) aabba (D) aaaba

>

',

13.

I
I
|
l
|
|
|
|14,
|
1
|
|
|
|

Which letter will be 7" to the left of 17"
letter from the left end in English
alphabetical series ?

3 avturen wjaen d ard wnd | 74 s
& ard] 3 =1 7al I EA wm R 7

(A) K (B) J
(C) M (D) Q

From the given pairs of words, you have
to select the pair which is closely related
in the same way as the words of the first
pair.

DOCTOR : STETHOSCOPE

(A) Carpenter : Saw

(B) Gun: Tank

(C) Typewriter : Computer

(D) Pencil : Pen

fe2 ma =gt & gl | | YR I8 W
U FE 2 T WY I & weel i a6
e w9 4 wafua &

e DU :

(A) w58 3l
(B) % : &%
(C) TTETUT : A
(D) ¥=E 1=

Choose the group of letters which is
different from others..

AR & W WYE 1 944 H A 3= A =
.y

(A) LKJ (B) GFE

(C) CBA (D) TRP



the glven passage and answer the
:::::Iﬂn'i (15 to 17) that follows based on
E;.::'.?If::.m inexhaustible souree of eneryy and
an nrm.gnwr;l.h‘-r can cumj.‘rt it into elec ‘."E“:'_'"I
:|1,th not much has so far been lelw in this
field, the survey shows that there is o vast
potential for developing n;md as an a]mmat‘n'c
source of energy. The wind survey has four
components — dirgctmnt durmm{h speed and
distribution. On this basis U.P. hill areas have
been found an i1deal place for selting up aero-
generators, In ULP. hills alone, as many a5 58
sites have been identified.

R e vz R 3t 3w W s e
(153 17) & I &y .

ammfmlﬁmhmﬁﬁiaﬂ{@mﬂﬁaﬁ
foga 2 siafis =t wwa & RJGUES CH PR

Y W qﬁﬁmw%.nﬁmf&mtﬁaa@
#h&mmiﬁm%mﬁﬁmﬁmmﬁ
FIR wYTEAT # | 19 HE™ & wR s § -
fawn, wwamafy, nfa st frrm | ¥9 3num gt
mwhaﬁunﬁamﬁ%%qm.%ﬁ#m
éﬁﬁmﬁmiﬁmﬁwwt | 3T
IW. & vEA 7 FH-A-3q 58 vy & fafgn
fEmmmi |

IS. The survey was conducted under the
government of U.P,
(A) Definitely true
(B) Data inadequate
(C) Probably true
(D) Probably false _
3.9, TR & 31 Faww 59 e mar an

() FifFmEIa7h(B) 221 sl
(C) Wwaa: WA (D) €Va4: e

Energy by wind is a comparatively new
emerging field.

(A) Probably false

(B) Definitely false

(C) Data inadequate

(D) Definitely true

16,

l
|

|
f
i
i
i
!
!

@ 3] ST T T B i
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IR sites identified jn L,
electricity,

(AY Definitely false

(1) Probably trye

(C) Definitely true

(D) Data inadequate

3.9, 7 fufag g I g e o
Cill

(A) fﬁﬁﬂﬁﬂ'ﬂﬁin] mﬂ'ﬂ‘?ﬂ
(©) PfFm s 358 (D) 221 sy

Shyam walked 6 metres towards Eag,
then took a right tum and wilked 3
distance 9 metres. He then took a right
tumn and walked a distance of 6 metres.
How far is he from the starting point ?
(A) None of these (B) 15 metres

(C) 9 metres (D) 21 metres
T3 7 1 31 6 Wit g, fm aifih ain
HEHU 9 izt wen | fm & 9 afedt o
TEH6 et e | 7% Yol firg & far
my

(A) FHAFE A (B) 15

(C) 91w (D) 21wy

Pointing to a lady, a man said, “The son
of her only brother s the brother of my

wife”, How is the lady related to the
man ?

(A) None of these (B) Mother’s sister
(C) Matemnal aunt (D) Mother-in-law

U 31l 3 v wfken ) 3T R e
T "I0E R Wi g, 30 o
;mf " | wfken et frg T Hufirn
I |

(A) FHEFE T (B) n ) awm

(C) wredi (D) 7

If*ACT" is coded as ‘DFW
code ‘BAD" 7
nﬁ:mm'aﬁ-nm"iﬁfzﬂﬁrmmt,ﬁ
M BAD' %1 92w W= 7

(A) VCR (B) EDG

(C) GDC (D) GHU

did o have

» how will you
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Which one of the given responses would

be a meaningtul order of the following ‘
words 7 '

s st v s fo e el 4 @
3 H U B g
l. Pulp/ 2. Print/ |
T Em |
3. Paper/ 4. Purchase / !
T g
5. Publish/ :
ST |

(B) 1,3,2,5,4
(D) 1,5,2,4,3

Seven friends P, Q, R, S, T, Uand V are
sitting around a circular table facing the
centre. R 1s next to the left of U and V is
second to the left of R. P is sitting third to |
the left of T. Q is between S and T.
What is the position of U ?

(A) Immediate neighbour of P

(B) Fourth to the right of S

(C) U is between V and R.

(D) To the immediate left of R

FA T P, Q, R, S, T, U v &z #
3R @ T e A F = A A |
Uk dmad REMRFIAAZETV
| THaH g AP IR IS
THTEQR | |
(A) P &1 Fread TsHH
(B) S ¥ fEd A
(C) V 3K REAAUR I |
(D}R%W'ﬂﬁ 1

sitioned 10™ from the left and |

(A) 1,3,5,2,4
(C) 1,4;3;35,2

Raj is po
Atul is po
row of 15 students.

are between thern?
ism'aﬁa?rrsa:rrﬁ}:_ 5
qu 2 3f 3iqaA g § 83 FA W
vy et ot o 8 7

(A) 1
(C) 0

How many students |

3 rs @l @ 108 FH
3} T %
|

-.

24,
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citioned 8" from the rightin a 137,

From the given pairs of words, you have
to select the pair which is closely related
in the same way as the words of the first
pair ¢

GOOD ; EXCELLENT :

(A) Bad : Good

(B) Jealousy : Happy

(C) Sickness : Doctor

(D) Hill : Mountain

fod m wegi & gl | ® FIH IV LW F
w74 %07 R A wun gm & g A A A
free ¥ @ wafua #

e R LR ;

(A) qU: 37=81

(B) $=i . g
(C) = ; fafeea®

(D) 9ETE : gea

Choose the odd one out from the given
alternatives.

o o Faredt 6 & e g |
(A) 74-88 (B) 15-21
(C) 26-38 (D) 58-70

Which letter will come in the bottom
portion of the last figure ?

wfm wrEfa & fas wm 8§ =1 @ 3
Hem 7

A [HHL”E\

Ef[~ LT [- )
(A) U (B) O
)y T (D) S

Supply the right letters for the Question
Mark (?7) :
wya farm (7) % fare wdl s e
AZ,BY,?7,DV,ET.FS
(A) None of these / (B) CO

i & & TE

(C) CW (D) CY



30.

k) P

11 *COFFEE" is coded as *EEFFOC, how
will you code NODULE ?

aft “COFFEE' & ‘EEFFOCT Hfea fan
ma1 R, @ ¥ ONODULE' #) fam wat
FRa & 7

(A) ELUDNO
(C) NOLESO

(B) ELUDON
(D) ESLDND

Amit walked 40 metres towards west and
took a left tum and walked 40 metres. He
then took a lefl turn and walked 40 metres
and again took a right turn and walked 40
metres. How far is Amit now from the
starting point ?

(A) None of these (B) 80 metres

(C) 60 metres (D) 70 metres
wfta wfvam #1 3R 40 iz 30 s wr

g 40 Hiew ok =en | fr g ardff am
721 3R 40 i =@, 3 gaE | e
3 gewt 40 X =wen | A, I
el fag & faf gl w7

(A) FHAFREFE (B) 807
(C) 60 ¥ (D) 70 H#iX

letter from left end in English
alphabetical series 7

ST FvTETe W BICH 164 AT H T
=1 ol A FA WA 7

(A) U B) A |
(C), X (DY E |

I
Which letter will be 9" to the right of 16" |[
|
l

Pointing to a boy, Narmada says, “He is |
the son of my grandfather's only child"”.
How is the boy related to her ?

(A) None of these (B) Cousin l
(C) Uncle (D) Brother

U AT 1 I I FTQ K TG A FEI |
g R 2re] A F gFerd HaH B g R |
a7 Fre TR Ry w7 ll

(A) FHAFETE (B) wiAA
(C) et (D) wré

6
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Which one of the given responses woyg
be o meaningful order of the followin
words 7 B

faer graai w1 ekt @ o o et
HX | UH 7

1. Yearly/ 2. Fortnightly /
aifda Rulics

3. Monthly/ 4. Daily/
nfires oy

5. Weekly/
AR

(A) 2,5,4,3,1 (B) 4,1,5,3,2

(C) 4.5,2,3,1 (D) 4,2,3,5,1

In a school, there were five teachers. A
and B were teaching Sanskrit and Maths,
C and B were teaching Maths and
History. D and A were teaching Hindi
and Sanskrit. E and B were teaching
Geography and Spanish.

More than two teachers were teaching
which subjects ?

(A) None of these (B) Sanskrit

(C) Hindi (D) History

U Thel A Ul TS A | A 3R B FRRA
vE Tfera g & | C 3R B i v i
g & | D 3 A fad @ wpa g 2 |
EsiBYy @ Rfmmrd | A4
s s e A R g ¢

(A) FHRFETE (B) ¥&Ha

© &= (D) ¥ferEr®

If ‘black’ means ‘pink’, ‘pink’ means
‘blue’, ‘blue’ means ‘white’, ‘white’
means ‘yellow’, ‘yellow’ means ‘red’
and ‘red’ means ‘brown’, then what is the
colour of clear sky ?

(A) Brown (B) Pink

(C) Blue (D) Red

u& ‘FTAT 1 mﬂt rﬂﬂ"ﬂ'. tuﬂfﬂ‘ﬂ
ad ¥ e, e w oo AR
e 1 3 & e, e w1 3 &
e i e w3 R o, @S
AENAF TR 7

(A) MU (B) Tl

D) @&
() e [ 1048



lan,

Match Lis I|"»hl'.l|.1ll|u-|a||"|""r'| b 10
|1..-i|"-|ﬂ11' and chioowe the (ontect ogion
Froarm the given cisden

wof -] () o w01 () '

v mafere wl uw fiem m g & yynm
W fawra gl
List-1 1 mef-| List- 11/ w11
(Muhsjanpadan) f (Caplialy/
(uwTE (rrwurh)
B kashi/ 1. Vawhali/
. yrr
b, Anga/ 2, Waranasl/
¥ wrrpre]
e Vgl 1 Kausamb /
ul v
d  Vatsa/ i Champa!
e -
Coades | 2
a h ¢ d
Ay | 3 4 3
By 4 3 1 1 m
i) 32 4 41 3
o 3 4 2

Which of the following = the correct
chronological order for the comdruction
of these monuments 7

W wre] w1 T frte b weengem
Fradadlamwnwh b )
i Ta) Mahal /
AT Hre-
i, Indda Cte J
rm Ay
Futehpur Sk /
warg ifah

Agra Fowt f
i e

(AY 1,0, v, i
(€} iv, dil. i, i

1,
b,

() b, i, i, |
(00 i 1

LB

113,

1he i liewerment  of
W oarr el ar H:l} i thie field ulf
i tormy woas alwilitoon ol way _ Al
oWy uhwn e T g
rteetey o ot et e & vy d e
o rierla of) |
fA) (928

() 172w

.rll'-ll.l‘"lr

LI
M jaf

iy 1929
iy 1M

What » the carrect sguence of the
fullow ing events

b uent s wd sqem b )
1. Caberet Mission /
Vi g
e Cripps Mission ¢
fasm fymy
3. Lord Wavell's Proposal /
At 9 e
4 Muownibspen Plun /
LIREL PR 5 bl
(A) 1,3,4,2 by 4,2, 1.1
(C)2,1,1,4 () 3,42, 1

Which of the followlng pairy s vorrectly

Fiilﬂ‘lt-.'i 7

Tertiabney 8 8wy m oy Hirfeem

I, Humndd.-flu-n?hl! 4
Arrag - el

& Mudrarukvhusa - Visakhadatia /
HEIWH — farmyen

1 Mrichchhakastikn = Sudruka /

T I -
4 Ratnavali - Rajusckhara |

] = T
Select the comect answer from the codes
gven helow |
(a) 1,3, 3,4 (M 1,21
() 2.3.4 () 1,3, 4
The Mughul Ruler whi spent |5 years In
exile was
(A} Juhangir (1 Hahur
10y Humayun (D Akt
v e T | § ot Bt & feem am
(A) wnl () W
() ey THELLL
148



(as)

S35 I the average of 53, 63, x, 41, 78
32, then find the value of 'y, .
33,63, x, 41,78, 26 % 3t <2 R,
X 1 911 4 ifi |

(A) S0

(C) s2

26 1%

(B) 51
(D) 53
If a sum of ¥ 53 is divided among P, Q
and R in such a way that P gets ¥ 7 more

than Q and Q gets ¥ 8 more than R gets,
the ratio of their shares is

ﬂﬁzssmuﬁaﬁp.:)qa'u%ﬂam
YER w6 P QB 17 =
M QF R A T 8 vam o, 1 33 3w
& I R —

(A) None of these / (B) 16:17: 19

= 3w

(C) 25:18:10 (D) 21:10:22
Two cones have their heights in the ratio

of 1 : 3 and radii 3 : 1. The ratio of their
volumes is :

ﬁ’fﬂ?ﬁﬁmmmlﬂtaﬂt
Fremati®n 3 1 # | 37 smaem 1 arqema

>

CﬁD

R:
(A) 1:1 (B) 3:1
(C) 2:3 (D) 1:3
38. Select the appropriate number to replace
the Question Mark (?).
v fag (2) #1 wfaenfm 3 & fom
ITGT WG 1 999 HIAT |
(A) 100 (B) 64
{C)~17 (D) 32
S\ 48-12x3+9 _,
3. ) " 12.29%3
(A) 4/3 (B) 119
(C) 173 (D) 7/3

104B
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The diflerence between the compound
interest and the simple interest on a
certain sum at 10% per annum for 2 years
is T 52, The sum is ;

v frfrm uf o 10% wfamd i zea 2
A1 3 T B sivswafE o aea
FIMRY 2, M-

(A) 72,680 (B) T 10,408

(C) 5,200 (D) T 3,980

12 monkeys can eat 12 bananas in

12 min. In how many minutes can
4 monkeys eat 4 bananas 7

1293 12 fme & 12 %@ @ w%a £, @
a4 Fa frm e dmrawa R 7
(A) 12 (B) 40

(C) 80 (D) 15

A seller marks his goods 20 percent
higher than cost price and allows a

discount of 5 percent. The percentage
profitis :

us fadan 1o a3 @1 wra ge A 20
wfawra F9C 3ifFa w1 R o 5 wfawa 6

e Em R 1A wfava R -
(A) None of these / (B) 15

U | T
P (C) 26 (D) 6

- \Anil after spending 84% of his income,
saves ¥ 24 every month. What is his

L—J"'

©
i
!

l monthly income ?

] P It 3w 84% T w0 * e
| wfamTe T 24 @ @ | 3wt s wn
27

; (A) 2180 (B) T 280

l (C) 2250 (D) 2T 150

]@ How much time will it take for an amount
l

|

I

|

|

|

of T 450 to yield 81 as interest at 4.5%
per annum of simple interest ?

4.5% wfoard & wrumo sy A 450
TR R 81 %1 @y qrt % fore fra W
7 >
(A) 4 years /a4
(C) 6 years/ad

(B) 4.6 years / ad
(D) 3.6 years / 4

7 <



I..d Find the average of the following seq of

[-__..- Scores.

farsy st @ Az 1 3NEa 1 |
066, 361, 189, 248, 460, 826, 528, 230

4%, / The area of a rectangle is 252 cm* Dand its
. length and breadth are in the ratio of 9:7
respectively. What is its perimeter 7

UF T AT 252 em? ¥ 3 I

ik g D (A) 528 (B) 476
ot va s www: 9 ;7% FE H E, (C) 505 (D) 464
o sEw s wEn R 7
(A) 120 em (B) 64 cm "-9 A rectangular water tank is 8 m high, 6 m
long and 2.5 m wide. How many litres of

(C) 90 em (D) 60cm ’
water can it hold ?

(A) 1209 litres (B) 12088 litres
(C) 1208 litres (D) 120000 litres
uw mgarEr o ) 7 8 i, A, 61,

f*'( -'lf-*\ The population of a town increases 5%
annually. If its present population is
74970, what it was 2 years ago ?

UF T H wHE afhw % 8 9@ d i R | e afft 2.5 f1, I R | 7% o wfmw
Tf2 I TATH AFHGHT 749707, 7 2 AW qrt ur = EEA R 7
qd farefi ot ¢ (A) 1209%fit (B) 12088 Fix

=
(A) 64290 (B) 72090 gg (C) 1208 izt (D) 120000 #H
(C) 63165 (D) 68000

Si 1f 200% of a number is 90, then what is
[ 47.) A seller sells one transistor for T 846 at a the 80% of that number ?

gain of 20% and another for T 966 at a l afe fareft s &1 200% R 90, T 36 wEmn
loss of 4%. His total gain or ]DSS percent 1s ' &1 80% feraiEm 7

(A) None of these (B) 5 ;1: gain (A) None of these/ (B) 36
6 w8 w1 Tl

(€) 65%gain (D) So%loss | (C) 96 (D) 74

g faaﬁn T ZITT &1 T 846 T f&m

€2.73 men and 4 boys do a piece of work in
T 20% 1 A sifa @ 2 shgt = L 8 days, while 4 men and 4 boys finish it

? 966 T faFg 1 4% F wf2 Iam 2 | in 6 days. 2 men and 4 boys will finish it

I
in:
mﬁmmmmt"w = (A) 18 days (B) 19 days
(A) FHAFETE (B) s.ﬁ o@™ | (C) 16 days (D) 12 days
1 i | 3 e ot 4 v o wrd & e w1 8
(C) 673% @™ (D) 517%®R | faiwad, wuts 4 omoh o4 ogd W
P | efmimat 2 ooh s wee
.143 /,)7+7+7x7=? I Fulay |
(A (A) 44 (B) 677 | (A) 18 i & (B) 19fe=i
(C) 14 (D) 307 (C) 16 feAi & (D) 12 A1 §
“ 8 104B



Directlon : (Questions £3 (o 55) : Study the (53

following  information carcfully

answer the given questions,

P (wer 53 @ ss) =ﬁnf%|1hnmaﬁﬁ
v v Ry el amdd

A word arrangement machine, when given an
input line of words, rearranges  them
following a particular rule in each step. The
following is an illustration of input and the
steps of rearrangement.

U Yoz famg wyis ) 9 vl ) fadm
& I R A9 T us w01 § v fafe fiag
1 FTHW IR §F: A F1 A | fram
3w @ v e frafafea 2

Input / Go for to Though By easy
IEER To Access at
Step 1/ Access Go for to Though By
=7 | easy To at
Step 11/ Access at Go for to Though
=70 11 By easy To
Step II1/ Access at By Go for to
= 111 Though easy To
Step IV/ Access at By easy Go for to
IV Though To
Step V/ Access at By easy for Go to
Y Though To
Step VI/ Access at By easy for Go
|01 VI Though to To
Step VII/ : Access at By easy for Go
|7 V]| Though To to
And Step VII is the last step for this input.
st Vi) 38 fam w sfm R |

As per the rules followed in the abo :
find out in the given questions the approprial

step for the given input.
it it 8wt o & san FE
3 fow 1o fyw 3 feru Jwge =0 A HL

104B
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Input : Over Go For through at one
Which step will be the last step of the
above input ?
¥ : Over Go For through at one
Tt Fyaw a0 wfag o = = e 7
(A) None of these/ (B) V

T # Y 77
(C) VI (D) VI

Input : every and peer to an for
Which of the following steps would be

‘an and every for peerto’ 7
fam : every and peer to an for
‘an and every for peer to' fA=fafEa @
1 |1 = ' 7
(A) None of these/ (B) 111
¥H 8 1 T

(€) IV (D) V

Input : Together over series on feast the
S0

Which of the following steps will be the
last but one 7

@ : Together over series on feast the

50

frm = 4 | wf=m | ogen s AR @

€ 7

(A) None of these / (B) 11l
T | & T

(C) IV (D) V

Which  of the following

characteristics of Computer ?
(A) Allofthese  (B) Diligence

1s/are

(C) Versatility (D) Accuracy

fret & & 9 ot e ) arfiremarfirean/d
p/E

(A) Amh (B) dfesrfiren

(C) g (D) WM
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o standand

Which input device is usually
feature of laptops _'."

(A) Magnetic Mripe readet
(B) Graphic Tablet
(C) Alpha numeric he)
(D) Touch pad o
faeg ¥ & w3 w9z i I Arh

W T R 7

(A) HfE R IR

(B) Wi eaaxe

(C) 37w - =gt - §§
|

Iiﬂﬂrd '

(D) =z

Display Card is used for the purpose of
(A) None of these .
(B) Sending graphics data to output unit
(C) Receiving graphics data from output
unit

(D) Sending graphics data to input unit
Feeca a1 v v e s v @
(A) T8 A &8 T8

(B) 3R I F mivww 370 W F

fora | 162.

(C) T3y gz B e 221 wH & &
fere |
(D) 32 332 1 i T21 %1 & fio |

refers 10 a pre-made images ready
for use in MS-Word documents.

|
|
|
|
(A) AutoShape (B) AutoFil| I
(C) ClipAn ] (D) WordAr I
R TR v s g |
¥ (ready for use) Td-fafiy ¥fm 3 ]
wzffa | |
(A) Fa-# {
(C) fa - 317é |

(B) 321-fam
(D) a5

10

60,

61.

R is the ululiw of the
<ystem 1o run Ope
ui ntime,
(A) Multitasking (1) Bootin

(C) Copping (D) ['ﬂ'i!ing
 URA ROy e
1 S ey

. )
(A) WEAfEE () o

(C) ifm (D) Hfesn

Software in computer
(A) None of these

(B) Accelerates speed of 1/0 access
(C) Increase the speed of
Processing Unit

(D) Can be utilized without SUpporting
hardware

Fr H G

(A) 990 @ %1 7]

(B) 1/0 waem € nfa & wfta wnd

(C) &= wafem give i nfa Hwgm

(D) |fén Trédm & firm 3w i
HHATR |

more thy; ¥,
M one “PP“HH'

Centry

Which of the following is not true fora

magnetic disk ?

(A) All of these

(B) The access time of magnetic disk is
much less than that of magnetic tap¢.

(C) It provides only sequential access©0
stored data, _

(D) It is expensive relative to magnete
tape.

s Ml for 3 R e AR AR O E

TR ?

(A) Tafi

(B) Hifoe feeas  aw v RS &
fgEndagasa k|

(©) T et 3 w @ P
wFEE e R |

(D) ﬂﬂﬂf&m%qﬁ:nﬁmﬂ!’“'lw
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67.

1048

\1\"., P A
Special efTeets yeed 1o introduce slides in 168,

a presentation are called
(A) None of these

(B) Custom animation
(C) Effects

(D) Transition

ﬁwimﬂmﬁwm%mm

R 3 A1 Fre Pwm e

(€) (D) gt
Outlook Express is a(n)

(A) E-mail Client (B) Pmmcoli
(C) Browser (D) Network

FTITTH TR R
(A) :-Fa TR (B) SR =
(C) #=7 (D) Ta%

Which of the following is not an input
device 7

(A) Touch pad

(B) Keyboard

(C) Video Display Unit 20.

(D) Light pen
iy eRd AR w7 |
(A) = e -
(B) hiarg

(C) e feem gfe

(D) e 93

Which file starts MS-Word ?
3 & wEd Ms-ufordaﬁutmﬁtr

1 ord.exe
(A) winword.exe (B) wor
(C) msword.exc (D) word356.exe
Your Excel 2007 file 18 stored with the
extension
gy vaEa-2007 FIEC
YA & Ay T Gt dl
g .
(A) .zix (B) d

XX
(C) .xlsx (D) X 11

”»
I
____,..--"'"

69,

71,

An Operating System is o

(A) None of these (1) Hardware
(C) Sulh_tnrc (1)) Firmware
ua; aithnfén faren R o

(A) WA st afl () wdam
(C) wheam (D) wdam

In Rajasthan Hakat-Bahat types of land

on the basis of growing capacity means

(A) Land irrigated by canals

(B) Land suitable for [Imrigation &
Agriculture

(C) Farm land near to village (attached)

(D) Farms left uncultivated throughout
the year

T § IETEd MHA1 & W A F
TR ¥ -WEa F1 3 R

(A) TEzm fifem yfn

(B) feard wd ft & fere 39ge vfs

(C) mha & @ty ww iy (Fem)

(D) Wyt ad wra w1 fa @t & BT

As compared to diskettes, the hard disks
(A) are slower.

(B) have low storage capacity.

(C) are more portable.

(D) are more expensive.

feee ) g B, T8 e
(A) drfi g &1

(B) ¥ v amwen w A R |
(C) fus gEm e &)

(D) s wift @ & 1

The resolution of the screen is indicated
b

(1{) None of these (B) dots

(C) colors (D) pixels

whRw o & g fifde fw
Rk 3

(A) A F{# (B) SRH

(C) word (D) fowda



74.

785.

Founder of Kachhwaha dynasty wis
(A) Kokildev () Dulhe Rai

(C) Bharmal (D) Jaisingh
FEETE TAAN F HEATTF o

(A) e (B) ZFR UM

(C) wrTd (D) FafiE

The principal seat of *Rajasthan High
Court’ is at

(A) Jodhpur (B) Jaipur

(C) Tonk (D) Jhalawar

T 7= AR f yqE e wE R 7
(A) FT (B) FAL

(C) o= (D) TS

In which of the following district
‘Chhappan Basin' is there 7

(A) Tonk (B) Banswara

(C) Pali (D) Alwar

wuR A e A iR, aw

(A) T* (B) wtwars

(C) Tl (D) e

What is ‘Damni’ in Marwar ?

(A) None of these

(B) A type of folk song
(C) A type of odhani
(D) A type of dance
qrRaTg ‘gl sk 7
(A) 8 8 = 7

(B) & YR & St
(C) U@ W& #1 e

(D) TF FIF TR

5

70.

77,

The dance perlormed by Garasig tribe

(A) Walar (B) Shankaria
(C) Ghudla (D) Panihari

e FEfa 2 fEm a3 )
(A) TR (B) T

(C) T3 (D) gforert
Which of the following pairs is incorrect 7
(A) Meerabai Temple - Chittorgarh, Merta
(B) Eklingji Temple - Udaipur

(C) Karni Mata Temple - Deshnok

(D) Sun Temple - Bharatpur

frrdasRm A end
(A) v nfen - fadtemg, fzan

(B) Thfemsh wfet - 3z
(C) ot e wfeT - G
(D) Hd Afet - v
78. Match the following :
I 'ﬂﬁﬁqﬂ flﬁlﬂ :
| Books / T5% Writer / 9@®
l a. Radha/ — 1. Sumer Singh
| Yt Shekhawat /
I :
b. Maru-Mangal/ - 2. Harish Bhadani/
F-TTe Eite yrerh
c. Bathan Mein  — 3. Satya Prakash
Bhugol / Joshi/
aTei T HeawHTe At
Codes / < :
l a b c
[ A3 2 1
| B)1 2 3
©3 1 2
| D2 3 1
| 79.  Which of the following in Rajasthan was
| not the centre of the 1857 R_cvnll ?
I (A) Ajmer (B) Japur
l (C) Neemuch (D) Aauva
| frofaftea § 4 ®F w1 T T
| 1857 < A= & F T w1 7
| ® T (B) 9aq1
(C) = (D) I
2 ‘ 1048



80.  Which of the foljon
correctly ?

National Park

ving | . o . ‘ e
B8 N0U matched (83, Which of the following Articles of Indian

b Constitution is related with tenure of
(A) Ranthambhor T htr"_m Governor ?
National Park i;‘:;;:' (A) Article 158 (I3) Article 156
(B) ?ﬂr'::ka National - :r\l\:--\:m" (C) Article 163 (D) Article 171
ark C

\ vt wifqurs w1 fasfafaa 8§ @ 9 @
(© :c?ladelnp Ghana - Karauy I T % v B wafua 7
iNational Park
(D) National Degery — (A) =02 158 (B) 37T=0T 156

Park Jaisalmer (C) =2 163 (D) 7B 171
FeffEa i 3 s mana -

84. ‘Nimuchana Kisan Aandolan Massacre’

mmm ﬁ(m fren - | happened in which State of Rajputana ?
(A) T - m (A) Jaisalmer (B) Alwar

U l:mf‘ra-( (C) Mewar (D) Bharatlpur
B) sER TR TR - e *fregron e SR TRTHTVE TRl
(C) FEATEE O TFT - wiehy %! fom foaraa 5 gan o 7

Sl | W ELRE (B) erat
(D) THATETMR - I | (O WW® R

81. The correct chronological order of the lg_l;_ Match the following :

following battles fought by Rana Sanga = =iy

will be : Frefafaa gﬁ‘ﬁ‘m :

TN |/ #F g S ™ P s a. TaragarhFort/  — 1. Jodhpur/

HE HTAFH T : e fepe “il_"lsi

1. Battle of Bayana / I b. Jaigarh/ — 2. Aymer/
T & TS T AT

2. Battle of Khatauli/ c. Kirti Stambh / - 3. Chittorgarh /
wrreh &1 73T Hifd wm fadhems

3. Battle of Gagron/ ﬁ d. Mchrangarh Fort/ - 4. Jaipur/

Code / g2 : Codes / §2 :

(A) l'l 3:2 (B) 1‘2'3 a b

(C) 2,3,1 (D) 3,2,1 (A) 1

82. When was the designation/post of
Rajpramukh abolished in Rajasthan ?
(A) 18" April, 1948
(B) 1" November, 1956

l
|
| (C) 1
|
(C) 26" January, 1950 {“- The working area of ‘Sant Bhuri Bai
I
|
!
|

3
B)2 4
2
4

(D) 2

— s L Ja 0
(U SNy O I - W

D) 15" 1949 Alakh’ was ,
iﬁl?;;ﬁwmay' amqaiﬂﬂﬂm§m? (A) Marwar (B) Mewar
(A) 18 3@, 1948 ® (©) ;ﬁm:rg {r:;ﬁ (;:;;m'nr

1 Ha @’ ¥
(B) 1 7aa, 1956 1 iy o o
(C) 26 F=atl, 1950 F il

- (C) ame D) Th'gzﬂg
(D) 151¢, 1949 & (

13
1048 g



In whose court did Nihalchand serve as
a’an court'oflicial painter ?

(A) Jai Singh

(RY Sawant Singh

(C) Maharana Pratap

(DY Ram Singh

fms T o frmees mﬁﬁﬂfrﬁ'zmﬂ

feram ¥ s @ ©
(B) mﬁﬂfﬁ!

(A) FafEe
(C) =wren ¥

Consider the following statements about

*Hawa Mahal' Jaipur and answer the |90.

question as per the codes given as under.

1. Hawa Mahal is an five storeyed

structure.

Hawa Mahal was built by Maharaja

Sawai Pratap Singh.

There are 983 casements or complex

designed decorative windows.

Which of the above given statement/s

about Hawa Mahal is/are correct ?

(A) 1,2&3 (B) 1&3

(C) 1&2 (D) 2&3

w1 TEE FOY & w0 A Aefeafes wueEl

o faem #ifaw s A= ﬁ'&ﬂ(&ﬁ HH ¥

&1 I far |

1. ¥a19ES U& Sia Siaen gk | |

2. ¥A1 WEE WEW waT war i g |
T T T | |

3. yawEe # 083 i @ wfee e |

& waé i frgfal # | I

(]

LY

wa wre & €UH S R o ayEi § @ e
w/awEwEhd/E g

(B) 133

(D) 233

(A) 1,233
(C) 132

14

N9,

(D) e L

91.

Which type of Sarangi is played by 1he
Jogis of :\1“'nr-llhnru1puf ?

(A) Gujaratan Sarangi

(B) Jogia Sarangi |

(C) Sindhi Sarangi

(D) Sarangi of Jari

HE- WA & i 2 form ey
mnﬂnrfqmg?

(A) THT TR (B) Frray vk
(C) fordy mrooft (D) & & wrif

In General Elections, a person can use his

voting right if :

I. Heis the citizen of India

2. Not less than 18 years of age

3. Not be in any office of profit in
Government

3™ g, v =fw 793 wafen w
IEm W EED R, IR

1. SENTE@FT AR |
2., WMIsTAFIAAR
3, FERATEM & RFf i

Choose the correct answer :

Hﬁfﬂmﬂmﬁﬁm
(A) 1,2 B) 1,2,3
(€) 1.3 (D) 2,3

Who was the founder of the Kunda
Sect ?

(A) Rao Mallinath (B) Gogaji

(C) Pabuji (D) Rao Ajeet Singh

@nﬁutmma?
(A) TAaweeAtaTE  (B) LiUIE |
(C) Tt (D) Tra rdafee



93.

104B

Consider the follow

the Governor of Rajasthan
1 [t L :

Mg statements about

. He shoulg be citizen Of India

3, He shoulg be at leasy 35 \*v:lr‘s of ag

3. He shoulg have competence 1o
become Member of Lok Sabha l

4. He |

can be Govemnor \)
one SIH[E.

(A) 2and 3 are correct,
(B) 3and 4 are correct,
(C) 1,2 and 4 are correct,
(D) 1,2 and 3 are correct,

W%Wﬁﬁiﬁaﬁqmﬂﬁ

mw:
L. 38 YT 1 e B e |

2
-

EH1 =R |

4. =& U B wfuw =i @ e @

HHATR |
Codes / 2 :
(A) 201 3T & |
(B) 3ae 4 FEI |
(€) 1,23 4w ¥l
(D) 1,23M3FAE|

traditional art of printing of bel butey ?
(B) Bagru
(D) Sanganer

(A) Bessi
(C) Molela

I Y FH Y g 35 = gt =nfie |
3. IHH €F WY1 1w o A g

[ more than ]

-

e 1 A 1 8 A R R I

i et 3 ferg e v & 7

I
I
I
|
I
Which region in Rajasthan is known for }
I
|
|
I
|
I
|

15

V4.

9s.

Which of the following is not included in

the  jurisdiction of Lokayukta in

Rajasthan 7
(A) Minister
(B) Chief Minister

(C) Members of the service of the
corporations established by the State
of Rajasthan

(D) District Head
frg 8 A fadt tom & dAege &
sfuwr-8 1 it 78 e man R 7

(A) 5=

(B) Hwawt

(C) TR T g wura Pt &
ERRIGRI L)

() et 1t

Suranga Fair of Hadoti is said to be -
(A) Chandrabhaga Fair

(B) Ramdevra Fair

(C) Parbatsar Fair

(D) Pushkar Fair

TreYh = gom fen wE R
(A) =9 A &

(B) THeaT ia &

(C) TaaEt iet H

(D) FoF A



97.

nt e b the following pairs is correct 7 |9
el :::::11;::1::::;“” Thees Establishiment
(A) Rajasthan Hindi = 15 July, 1980
sranth Academy
(B) :{;:jl:zfl;|.1nl.€n!1i:3.'11 — 28 January, 1958
ACT \' !
(© l};ai:m{t‘ll:;::;} Ganskrit — 25 Aligust, 1969
Academy
(D) R;insthnnllrij — 19 January, 1982
Rhasha Academy
podasR TR EaR ?
A EIRE)
(A) TeEmE D - 15 e, 1980
w : 99.
(B) TTEEETEE - 28 SHad, 1958 I
(©) UFEEEEA - 25 3me, 1969 |
R I
(D) THFURFA - 19 99ad, 1982 g&
T 3TFTSH |
Seléct that group from the following |
groups who have taken oath as a Chief |
Minister of Rajasthan for three or more '
occasions.
(A). Mohanlal Sukhadia - Hiralal Shastri l
— Vasundhara Raje l
(B) Bhairon Singh Shekhawat - Shiv l
Charan Mathur — Haridev Joshi 1
(C) Mohanlal Sukhadia — Haridev Joshi
— Ashok Gehlot |
(D) Jainarayan Vyas -  Mohanlal l
. Sukhadia — Ashok Gehlot |

fire 5 4 30 W 1 =52 HITC AR AR |0,

1 sifies ITEE 1 UFE & e 18 |

&1 e =

(A) W GOSN — B Mal - |
I A |

(B)ﬁﬁfﬁﬁm—ﬁmw-l

(C) T it — gt e - l

(D) FEANEN 278 — HEAeAT JaT e |

16

Who is  the  present  Information
Commissioner to the Rajasthan State
Information Commission 7

(A) None of these

(B) H.C. Mcena

(C) P.K. Tiwan

(D) Devendra Bhushan Gupta

AT T AT AN & FA9A g
amyger & # 7

(A) s Awd T# (B) vEH, oy

(C) di.%. foarft (D) 23z yp

The Chairman of RSHRC is appointed by -

(A) Governor with the advice of Chief
Minister

(B) Governor on the recommendation of
Committee  headed by Chief
Minister

(C) Governor after getting the sanction
of President

(D) Deliberately by Governor

RSHRC & ey it fgfe &1 et

2l

(A) g € HeAT® WU

(B) geaast 91 e areht w@ftfa A
VA 9T &1

(C) Tgafa it =il &1 F a1 TAT
FAL

(D) RHE-HHHEH T=99T G0

Til Chauth (Sankat Chauth) is celebrated
on 2

(A) Magh Krishna Chaturthi

(B) Bhadrapad Krishna Shashthi

(C) Phalgun Shukla Ekadashi

(D) Kartik Shukla Ekadashi

fret <y (s <her) T S R

(A) TTa Fo =g
(B) WTZIE Fo1 WHI

104B
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. Match List-I with Ljg.

Night-blindness is ¢aqqed by deficje
) ney

v."r
(A) Vitamin B

" {It] \,. 7 |
(C) Vitamin A itamin ¢

(D) \’ilumin K

mﬁaﬁq L)
© A ) fafimg

Il and select (he

correct answer from (e codes give
en

below the lists :

-1 B -1 % ww wiferg

H vy
st 518 R g
List-1/ List-11/
gt -1 R )
a. CitricAcid/ 1. Butter/
fafew ar= Ll
b. Butanic Acid/ 2. Lemon/
i I Eii {
c. AceticAcid/ 3. Milk/
uHifew v U
d. Lactic Acid/ 4. Vinegar/
afaes foram
Codes /92 :
a b c d
A% '3 »2 -0
(B) 2 QU LR
©1r 2 3 4
(Dyfzinaly #¥3 R
Which instrument is used to magnify

very small objects 7
(A) Microscope

(C) Electroscope
wfa g a3

(B) Hydroscope
(D) Periscope
& fore fFl T

2

]
|
|
|
|
|
'IG?.
|
|
|
|
|

17
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108,

106.

In humans, what is the main cause of
anacmian !

(A) Deficiency of Vitamin K

(B) Deficiency of lIron

(C) Deficiency of Vitamin D

(D) Deficiency of Vitamin E

s 3, TRt (wefifean) w1 e s
Tk

(A) farofim K & %5

(B) & ) wft

(C) farafem p & &

(D) fazifium £ & wft

BCG vaccination is given to prevent
disease in infants.

(A) Diphtheria  (B) T.B.

(C) Cholera (D) Malaria

A A Fwasis MM ATEA
tq G R |

(A) fewafan (B) .4,

(C) wfam (D) werfan

Heart muscles are

(A) None of these

(B) Involuntary and Striated
(C) Striated and Voluntary
(D) Unstriated and Voluntary

wzu ) ufmal -

(A) T30 | F1¢ T
(B) 3n3f=m s faa
(C) tftaa 3w vfeow
(D) 3ifga 3 ofeew

Which of the following is the sweetest
sugar ?

(A) Maltose (B) Fructose
(C) Glucose (D) Sucrose
fadasnfizaa i vdut 7
(A) "TeeTH (B) W
(C) I (D) HFIA



10K,

109.

Match List-1 (Mahajanpadas) with | ist-1l
(Capital) and choose the correct option
from the given codes :

el (werag) ) geft-11 (o) %

wr gifer L va Ry e el & amum

Fﬂﬁmgﬁ

List-1/g-1 List-11 / g=-11

(Mahajanpadas) / (Capital) /
(TEHTTR) (Trarar)

a. Kashi/ 1. Vaishali/
LN ot

b.  Anga/ 2. Varanasi/
3 aror]

c. Vajji/ 3. Kausambi/
EIE T

d. Vatsa/ 4. Champa/
99 g1

Codes /%2 :
a b ¢ d

(A) 1 3 4 2

(B; 4«3 2 | g&

.2 4 1 3

)" 3 4 .2 .d

Which of the following is the correct
chronological order for the construction
of these monuments ?

T WE 1 I (A & FIEHITER
fadasRaF it ¢
i.  Taj Mahal /
ATAHE
ii. India Gate/
oz 12
iii. Fatehpur Sikri /
Harqt Hiawl
iv. AgraFort/
i faen

(B) 1, iv, iii, i
(D) iii, i, v, ii

(A) ii, i, iv, i
(C) iv, i, i, ii

!

——— — ——— —— —— — —— —— —

112.

The preatest  achievement  of Raja
Rammohan Roy in the field of Social
reform was abolition of satj in

Lo Al v w1 g

TmHEA 1 ) Benfe gom s i
wd) Juafay off -
(A) 1028 (B) 1929

(C) 1729 (D) 1829

What is the correct sequence of the
following events ?

fe uzmaﬁ FEOFRFR 7
1. Cabinet Mission /
Hfaaz fyom

2. Cripps Mission /
forag firors

3. Lord Wavell's Proposal /
SIECERRiC
4. Mountbatten Plan /
NPT A
(A) 1,3,4,2 (B) 4,2,1,3
(C) 2,3,1,4 (D) 3,4,2,1

Which of the following pairs is correctly
matched ?

Frfafea i 8 S o g ad gifem & 7
I. Nagananda - Harsha /
e — B
2. Mudrarakshasa - Visakhadatta /
wETEE — favmaea

3. Mnchchhakatika — Sudraka /

4, Ratnavali — Rajasekhara /

TETae! — Tt
Select the correct answer from the codes
given below :

(A) 1,2,3,4 {B) 1;2,3
© 2,3,4 (D) 1,3,4

. The Mughal Ruler who spent 15 years in
exile was
(A) Jahangir (B) Babur
(C) Humayun (D) Akbar
rer v forer 1 5 o Fafer o e g ot
(A) TENTIT (B) ¥1&
(€) ¥4 (D) 3w

104B
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116.

117,

Thc Righl 1o Edllcaliﬂn
Indian Constitution by .
(A) 91" Amendment
EB:I 44‘“ ﬁmendmml
.LC} [6™ Aﬂ'ltndmcm
(D) 31" Amendmeny
T T s
TR 3T Ry |
(A) VFTME  (B) 443wy
(C) 863 (D) 313 Ty

The on‘_.ltt‘r in - which the followin
nalities were elected a5 Viee
President of India is
freafeien safereal & e 3 -ty
‘5’3 TAS T AR
1. Dr. Zakir Hussain /
o wria s
2. V.V.Gin/
& . firfy

3. K.R.Narayanan/
.. TAAUH
Dr. B.D. Jatti/
7. #1.31. S

% v

4.

(A)

A) 1,2,4,
© 3,2,1

3
.4
Hindu Mahasabha was founded in
dgidh

ﬁ?knmaﬁrwmm
(A) 1815 (B) 1917
(C) 1916 (D) 1915

Who out of the following was elec
the Constituent Assembly 85
Constitutional Advisor 7

(A) Vallabhbhai Patel

(B) Dr. Rajendra Pra

(C) B.N. Rao
(D) J.L. Nehru
fe o @

ted by

its

118. Given below are two statements labelled

119.

as Assertion (A) and Reason (R). In the

context of the two statements, which of

the following is correct 7

Assertlon (A) : India is Democratic,

Reason (R) : India has a Constitution

of its own.

(A) (A) is false, but (R) is true.

(B) Both (A) and (R) true and (R) is the
correct explanation of (A).

(C) Both (A) and (R) true, but (R) is not
the correct explanation of (A).

(D) (A) is true, but (R) is false.

4 fae e 2 Tt F i (A) Al

7% (R) & wv 3 fufga form ma & 1 2H

sl F e AP dasAmEat 7

AR (A) : WA Hhaiw R |

T (R) : WRA H A =l W

iceich 3

(A) (A) e}, T (R) TR |

(B) (A) 3 (R) 21 wea € 3 (R), (A)
Had=mnt |

(C) (A) 3 (R) 31 & &, 90 (R), (A)
fHdi e T E |

(D) (A) ¥ R, WG (R) Fwe R |

Who among the following is directly

responsible to Parliament for all matters

concerning the Defence Services of India ?

(A) Defence Minister

(B) President

(C) Prime Minister

(D) Cabinet Committee on Political
Affairs

i 1 & 1 ua ) wn Fansi @ e

- oft et 3 frg oW w9 @ wEg ® W

IR R 7

(A) a1 Wt

(B) Trgafa

(C) wureH#t .

(D) T amvett ) HfAT



i of
120. Deccan Plateau 18 mainly made up

121.

122,

123.

imestone
A) None of these (B) Lime
:C'} Basalt (D) Sandstone

(A) FR sl (B) T
(C) ¥uree (D) WigHRA

Which of the following does not belong
to biosphere reserves set up so far ?

(A) Gulf of Kuchchh

(B) Sunderbans

(C) Great Nicobar

(D) Nanda Devi

P & @ 9 @1 wE qF W AaHsd
ez dmfm it ? J
(A) s HI T (B) §EE gﬂ
(C) e fw@m (D) e

NITI Aayog, in partnership with Bill and
Melinda Gates Foundation launched -
(A) Tika Utsav (B) Poshan Gyan
(C) Anamya (D) Aahaar Kranti
ifa amam 3 fae va Afeoe figg wevem |
& |19 9rfigr § sy fmar |
(A) &1 3T (B) 9§91 74

(C) == (D) FTER F1f=

In Indian Constitution, Article 338-B-
National Commission for Backward ‘
Classes was inserted by —

(A) 103 Amendment Act, 2019
(B) 102 Amendment Act, 2018
(C) 104 Amendment Act, 2020
(D) 105 Amendment Act, 202]

N Hfaum 8 31997 338-B - fro o]
& fore it st sr v fvy
(A) 103 "= srfufiam, 2019 2

(B) 102 w97 sifufiam, 2018 2

(C) 104 7 Hfufm, 2020 7

124. Match the Columng /
Hofera =t
a. Bhilai/ 1, Jhlrkhand;
firemé YTuy
b.  Durgapur/ 2. Odisha
fem
€. Rourkela/ 3 Chhattisgarp,
d. Jamshedpur/ 4. Uttar Pradeshy
L )
5. West Bengal/
LU
Codes /g2 :
a b c d
(A) 3 5 7 1
|y«l: 23 "3
€ 2.4 1 s
(D) 2 4 1 3

125.

126.

(D) 105 &M stfefam, 202) m

20

Which of the following states touches the
boundary of four nations ?

(A) None of these

(B) Assam

(C) Uttar Pradesh

(D) Nagaland

= 3 3 fem oo it ot w6

Ha @ g gi € 7
(A) VA wTd (B) arem
(C) I 3w (D) FvE

Which one of the following places
receives the maximum sunlight in

December ?
(A) Pune (B) Kanyakumari

(C) Kolkata (D) Leh
fre w4 @ 39 W e R

Fiftrererm g4 - e e H@ R 7
(A) T (B) HTGAT

(C) YeTHTa (D) TE
1048



|1T.

128.

129.

Kamataka’s Mnndahpaui hills

were in News) are hlmﬁuming W
blue flowers, which bloom

8
12 years. Name thig flowers

(which
1th the

once every
(A) None of these (B) Nilgiris

©) NeelnlEUﬁnji (D) Neelpushp
FATH 61 HEAYH qefq (N T R
AR FH TR, 3 9w 12 79 e
T W R o

(A) FRATH T (B) Haprg
(©) FEFER (D) Frerqwm

w:hich of the following arrangements is
correct according to their locations from
north to south mountain ranges ?

for= 5 2 91 |1 ST I o vy
SNl & ITH Efufy F arEn
t7? -

1. Karakoram/ 2. Ladakh/
FRIHH LA
.3. Zanskar/ 4. Pir Panjal/
W R T
(A) 2,4,1,3 (B) 2,3,4,1
€ 1,4;3,2 (D) 1,2,3,4

The Tropic of Cancer passes through
(A) Madhya Pradesh
(B) Maharashtra

(C) Uttar Pradesh
(D) Andhra Pradesh

%% @ at
W s @ T
© smwm  ® e

1048
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131.

130, Recently

which  ministry | launched

NIPUN Bharat Programme, a National

Mission on Foundational Literacy and

Numeracy (FLN)? ¢

(A) Ministry  of  Information
Broadcasting

(D) Ministry of Education

(C) Ministry of Parliamentary Affairs

(D) Ministry of Science and Technology

w1 #) 3 fr warera 3 fagen (NIPUN) Wi
W, gframd) areTa vd €6 W¥H (FLN)
mnﬁwmmﬁ.ﬁm?

and

Ministry of Road Transport and

Highways has notified Bharat Series

(“BH" series) of registration, BH series

will be available on voluntary basis to

(A) All of these

(B) Defense Personnel

(C) Government employees

(D) Employee of Private  sector
companies which have their offices
in four or more states/UTs.

E® YT T ToHT GAed A Gelia

#t yra @i (‘BH' @ifie) rftgfa

2 | BH it tfeas amun W Igerey Bt

(A) A&t _ )

(B) &7 i ® i

(©) wrﬂmﬁa{ftﬁﬁ

(D) WTEaR &= 1 =g Halat, ok ana
st T=dl | %7 wim wewt ®
Fated &, % HHard F |

. Meiraba Luwang Maisam, who was in

the news recently, is related with which -

sports 7

(A) Badminton (B) Tennis

(C) Chess | (D) Shooting

frere g e AT S w0 " e,
fragaadEfmd ¢

(A) ¥sfire (B)

(C) Wi (D) framrarsh



133, Which bank has become the first bank in

134,

138.

the country to achieve the milestone of
issuing | crore FASTags ?

(A) ICICI Bank

(B) State Bank of India

(C) Federal Bank

(D) Paytm Payment Bank Limited

| FUF FRN I FA F q8 YW
FAFTEN 29 %1 WUy i W 9w 7
(A) i .o, &%

(B) Rz ¥=% s sfem

(C) Sz@ &=

(D) ¥ i &= fafis

Recently, who was appointed as the
Chairman of National Commission for
Minorities ?

(A) None of these

(B) Suresh N. Patel

(C) Igbal Singh Lalpura

(D) K. Sivan

BT € 1 TP sreqEeEe A sy e
frge e mn ¢

(A) ¥ 8 % 7l

(B) § . womt

(C) y&ure ftig amequ

(D) &. fgam

Which app has been launched by Flipkart
to enable Indians to start their online
businesses without any investment by
sharing catalogues ?

(A) Ajio (B) Shopsy

(C) Myntra (D) Meesho

ferera =T Zr Y foan v ¥ S st oy
et qmen g0 Brdw i I e
A E F0 ) gl 2 2

(A) tfat (B) wieei

(C) fomn (D)

r
!

Il 140.
|

136.

137.

138.

139.

22

. |

Indin's first COVID-19 vaccine lo
approval for children above |2 Yeary .
(A) Covaxin (B) Sputnik

(C) ZyCoV-D (D) Covishielq

12 o & 9% vl & o Hgﬁmqﬁqm

TTd 1 WoH HIfag-19 A i
(A) ®idw (B) ¥afim
(C) wwE-§ (D) #rdfieg

The country’s  single-largest solar
photovoltaic project at Rann of Kuchchh
region in Khavda, Gujarat wij| be
constructed through

Tag], T F F=0 87 & ™ § 3y 4
THATA T T TH AT g
Prafor % zr fear st

(A) PGCIL (B) RIL

(C) NTPC-REL (D) NHPC

Essential Defence Service Bill, 202;

passed by the Parliament that allows the

Central Government to prohibit
in units engaged in essentia

defence services.

(A) All of these  (B) Strikes

(C) Lock-outs (D) Lay-offs

HER TR 9T a1 mn smaves w0 d

srfufram, 2021, S ¥z TR 9 smaws

WSt Al i A W

sfefira & %1 st 2 & |

(A) Tt (B) ®¥a™

(C) aremed) (D) A-HT%
TuTIRT Wez 6w T w1 Temr R 7
(A) =T (B) degeq

(©) fem (D) Hama

T T 3 freim g R

(A) FEI-F&m  (B) wW - fmgm
(C) H= — §=meft (D) v — I

104B



i mﬁ;ﬁﬂﬁqiﬂmmmm

" a6, P 3 @ e foret 5t e et
& yam g3 R 7
RARLE LT L A 1 srea (2) s g
p) T Framd S (A) srwwia, Fryee
(© ﬁmﬂmtw%mh{tl (B) murerga, v
(D) T8 1 E-1me Yy 4 | (C) FETE, T

: (D) sreftfrman, ymat®
. P TR R g v e s 7

(A) I T T -t 147, form e § afch wfonfis T W
B) T H o w3 aren — frome vy frd wrfonfes T @@ @ 7
©) ﬁﬁ'ﬂ'ﬂ%fﬂwﬁmﬁ_m (A) Symposium — T&
(D) ¥ TEHI ¥ wF wn ¥ amen - (B) Adverse - IR

WTE (C) lncxpedi:nt-w

o Frofern w2 w R | Eﬁ (D) Probation-m |
(1) Hare (2) m 148, frg faweq o ‘Foresight’ Y& &1 HHHHE
Bl L&) enm i rfeenives e w0 & 7
ﬁaﬁa:-jﬁﬁmmmf? (A) = (B) SRR
(A) TE (B) 1,233
C) qEIam D) twfa®

(C) 134 (D) 3 34 (.) ®)

7
1
e -qH Y- ~ (A) gfaared = gfaa + ATed
(A) gr1-9TH - wR-Pwe (B) it =g + 3w
(B) YETE-YATE - fopr — wEl (C) T = TH + 3744

(D) T =T4: +

|

|

|
lis.ﬁﬂﬂﬁmﬁ?ﬂﬁﬂwml &

l (A) 1, s, feaa

I| (B) T, g, 7w

| (C) wm, writeeft, w=rfeet

I (D) m-m,ﬂ‘ﬂ? '



